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ECONOMICS

( Major )
Paper : 5.2 L]{

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

: ﬂ Answer either in English or in Assamese
( For Arts ] .
( Basic Statistics for Economics )

1. Answer the following questions : 1x7=7

wod PR e fil

{a) If the mean is 5 and the median is 6,
what is the mode?

I T4 5 SF ALTA 6 24, I [ 2

~ (b) What does r? signify?
- r?-q {6 we g 9
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{d)

{9)

(2)

b e S
if A and B are mutually exciusive
events, what will be the value of P(AB)?

A SIF B *ReR 4B%S o 270 PAB) T T
& 237

Comment on the following
“Correlation coefficient between x and.y
turned out to be 1-027.

oo RO evTe T3 7w -

“x BF y I FTTER ST R 1A 1-02".

Define coefficient of variation.
o9 @RS o fe |

What is weighted arithmetic mean?
i s 399 2

If the number of observations and
arithmetic means {AM) of two series are
n,n, and X, X, respectively, then
what will be the AM of the combined
series?

T @I ol AR RIS WA R TR
W?ﬁ n.l, sz XI,X2 '8{, m’ﬁ

. P @GR T 197 232
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answer the following guestions :

g

2%x4=8

weg AR vas

{a)

fbj

{

(d)

20A/220

The arithmetic mean (AM) of the values
of a variable X is 25. If each value of X
is increased by 5, what will be the new
AM?

<G R X I WPEm Wed wWE (AM)
05 = | &% X T ofn WAz 5 0@ AR

=Y, (08 g AM R 237
Define mathematical expectation of a
random variable.
9 FieT TR SiAree HOIE e e |
Prove that the arithmetic mean of two
regression® coefficients is greater than
the correlation coefficient.
ST T @ PRGN SR 1GF
T BIRFOLT ©igT = |
The mean deviation (MD) about mean
(X) of a variable X is defined by

Mp = 21X - X]

n

What wiil happenito MD when | X = X|is
replaced by (X - X)?

R S NG9 (X) 1 S
R (MD) =y BT X T 7

Mp - 2K X

n
afem | x - | ¥,
MD?@W{%%Z—%(X_X)WE, cofmr
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_ Answer the following questions (any thireé) © 4
3 nsw -8

ot o B (R e )
(a) Compute mode from the following data :
R OIS A9 IREe AR 94l

Class Interval : 0-10 10-20 00-30 30-40 48-80

o [ 3

Frequency : 2 o7 20 1§ é’; -
T 1 25
() Compute the 3cd quartile from the
following distribution :
o1 AR R 41 o T Sl B

: 0-15 15-3030-45 4560 60 & abeve

s
A 9 14 8 §
No. of Days
foarg 54N
46
?
2
25
10
. 5.
Total = 200
If the mean is 146, calculate the
missing frequencies.
o Te 146 =W, (@ (2P IEFRS A9
E=
-~ 20A/220 ( Continued )
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(§)
/

(d) Prove that Karl Pearson’s corelation
cocfficient (A is independent of the
ehange of origin and scale.

s F4 G i PicwaeR e @ (7)
¥ i Fa ANaeAA A T |

(e) If twe ceins afe tossed, find the
expectation and the variance of the
number of heads.

1 T Begwd T O {9 FOA SiAres
Hoi FiF 45 HeeE |
4. Answer the following questions :

e ST Yo

(@ Either | &

(i) The arithmetic mean and standard

deviation of series of 20 items were
ealeulated by a boy as 20 and §
respectively. But while caleulating
them, an item 13 was misread
as 30. Find the correct arithmetic
mean and standard deviation.
g&7 R 2060 Wi et g we
e fSoew oial SATD “TH T 20
e 5, f5e @ wiKe gAe o
WA (EFe 13 ¥ HE@ 30 TA| W&
SHIEH W4 W o WA fRvea Sied |

(i) Write the characteristics of a good
measure of central tendency.

gﬁ*’(@@mﬁﬂmw@ﬁm
|
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{b) 1If the minimum value in a series ic 20
and its range is 47, the maximum value
of the series is

I @b YR Agen ARG 20 T=F 29
47 7, (T SYTAIGR Twex T 2%

767
fi} S7
(i} 48 »
{tv] None of the above
SRR GBre T
(Choose the correct answer}
(v Tecol R Thers)
) 1If r is the correlation coefficient, then
the quantity (1 -r2) is called
IR r W TF W, 5@ AR -1}

3 coefficient of determinatio
L T . \\u

R e
~[i#] coefficient of non-determination
iR omF -
i v T .m&oo&&gnomnmgnnob.
O e .

a&gaanﬂmgo
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(ETC T WE (PR MIT Iq AT
(scores) Sow faur greq -
Player 3 Score ] 914
L= | 15t oDI|2nd ODY| 3rd ODI] 4th ODi{ 5th ODI
S. Tenduikay 65 120 15 95 25
R. Dravid 46 69 80 65 45

Identify the better batsman and the
more consistent batsman in that series.

RIS (TG (O @R s ue
ST @opeaw (3 &1 foare w91

{c) Prove that Karl Pearson’s correlation
coefficient r lies between ~1 and +1, ie,

-1<r<+1

e

;

-1 <sr<+1

=T A A (AT I SN (1)
-1 9% + 13 o054 AT, wefie

In a particular case, the coefficient
of non-deterrnination involving two
variables X and Y wasfound to be 36%.

The regression coefficient by, was
found to be {-2-0). Whaf would be the

value of byy in that case?

I BT ROW SwTe wh| voe X
ST QT 36% o paifee | TR

BNR byy =-2.0 (o Lol | R

SRR ST 41 gy - T 19 X g
( Continued )
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| (e} In a city, there are 540 shops, some of
2 th?m are cooperatives, the others are
privately owned. The probability that a
shop seclected randomly s privately
owmed is 25/27. How many shops in the

City are cooperative?

- "WWS%ﬂammwwm
- UNRR Ifere wfermr 1 afere wifie
G TN Tferei fdifte carE i
25/27 W1 P[RR BN wGe oo

?

4. Answer the following questions : = 10x3=30
/ GoTS ol PR Tew fa
?ﬂl/ Either | =¥

Define median. Compute the median
age from the following distribution :

TR SRE 1 | Sor IRERe Reses 41

-

T W A1 9
Age Group (in years) No. of persons
FPR T (TL) e
0-15 7
15-30 35 ;g
| 5-6; 13
45-60 | .
sculty 'you face if you are
the arithmetic mean of the
distribution? : 2+6+2=10

o~

(M.Owr)




¥
_ P ofa FaEe e WerTa o %4,

ofit & T e 247
or/ 94
What'ié &ispcrsion? What are its vafri{?us
measures? Compute the mean deviation
of the following data :
from mean o

/ﬁmﬂmﬁi?wﬁ%ﬂmﬁﬁ?
w@mwwwmwﬁﬁﬂﬂﬁﬂ

B 1l
Marks 0.10 10-20 20-30 30-40 40-50
T
No. of students = 2 7 9 6 4
gIgd R g - A
® Fither | % =

What is meant by correlation between
two variables? What does it measure?
From the data given below, find the

number of pairs of values of (X, ¥} :
2+2+6=10

i vered e g fF gem 2 X e et ?
e il SUR A1 (X, ¥) 3 RIAER YW Wi
a7 :

rxy =0-5 Exy=i20, £x2 =90
standard deviation of Y series
(v cifrs W@ fve) oy =8 -
Where (ﬂ‘fs),x=x-5(',y='y_?, ﬁ

A9/202 ( Continued }




{7}
Or / 5
Two lines of regression are
4x-5y+30=0
20x-9y—-107 =0
TOR SRR @ 020k
4x-5Sy+30=0
20x-9y~107 =0

Identify the regression line of Yon X
and regression line of X on Y. Also
calculate the correlation coefficient (ryy )
therefrom. 6+4=10

WH GFE Y-SR SNS Y4 SRR W
(PO Y] €98 X-OF T @91 ¥ fore
T HE OR [{R TR BT (ryy) I T
g 3111 =
Either / &
iL‘J s "l-- k) w Deﬁne : ‘ :‘ 6

PR Y () Random experiment
s j‘— Wvﬁ’]ﬂ
L p e
- o o e
L "‘3, Event
: ;:!n«mfl

> v " {mmmr)
N
“SHOT ON PO‘_




Sl

( 4}

(c) I covariance between X and Y variables
is 12 and the variances of X and Y
are 16 and 9 respectively, then find
the correlation coefficient between X
and Y (rx}r}.

I W B X W YR T 12 [ uF X
¥ Y PRISE 16 9F 9 3, (O3 X UF
YS IDER QIR (ryy ) Sl

(d} Show that E(d=c, where ¢ is a
constant.

ST AR E(d =c, TS c 95l £ | |

3. Answer the following questions (any three) :
< : 5x3=15

o PR s (R @m%ﬁﬁ),:

‘(}} Compute inter-quartile range from the
following data :

o TR “{] SRS AR A9 4

& Class Interval ; 0-10 10-20 20-30 30-40 40-50
‘ o9 f[Rerea

ARy (20 VI8 . O

hﬁ%f“m v International

involving India, two veteran
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( Major ) ] v
Paper : 5.2 :
Full Marks : 60 _
Time : 3 hours |
| :
The figures the margm mdzcate full marks
for the quesnons : : .' :
|
1
( For Arts Stream )
( Basic gtatistics for Economics )
'.' . 3. Aaswer the following as directed ° 1%7=7 '
v Sy sl Ted | i :
i) Mhat { is the SD of the following, series?
B ik CE AL fe o
fr‘ ;
oA % 10, 10, 10, 10, 10, 10, 10 |
- s e :
h) /’Wh i does T sipmify? '}

7 - (
4 - 5“/ PRI oy e e il K I ;
; : 4 s T e & 3 : ; 1

¢ furn e ) 38
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it §‘| V' - -

(c/ It is given that PA=0"35 and
PB)=0-40. 1f the events A ana B ase
independent, calc&ﬂa@ PAu
fowr 2= P4y =0- 35*6&4-'331 0-401 ®
A ST B 0 F97 Vo 38, PA U BjISR AR
A1 :

o Bt Lo 4
X =589, what is the

10
vaiue of u?

T U=

10

o

=7

(e)/ Coefficient of det’cﬂninétion is defined
as

R (FAOF A4RT @g%
{1 r3

i) i+r

BYF R o =m0

Afii) 2
fiv) None of the above
@7 9oie 7Y
{Choose the correct answer)

il (e Seath oz Sfysar)
an i1s 5 and the median is 6,

\\y/ll’ the me: 5 B ;
calculate the mode

Wi W 5 e WU 6 ¥, TEHG (Fa0

ATf341 { Contiried )

I

POCO

"SHOT ON POCO F1

& D,.unc coefficierit of variation.

ﬁﬁ?ﬂ! ST G |

2. Answer the following questions : 2x4=8
fa 4 for two numbers, the AM is 25 and the

HM is 9, what is the GM of the series?

) R TR T 25 W TWEe W 9,

QTR 79 [/F=m 2

or a binomial distribution, mean = 7

\ and variance = 4. Give your comment

51 o7 DR T = 7 S PR = 4. (ORN

52 |

If the number of observations, means
and standard dewviations of twe serics
are ny, Moy; .k.'}, X,, and &, &3
respectively, then what is the standard

deviation of the combined series?
'P‘JT & ‘it! (::‘B K lll'{:‘-‘ oZ Jah, Sl QR e

Roas S® fy, M, .\'1. Xg 8% 0y, 09 %,

G e Yolal ¢ o TR Rose @ 240

the addition theorem ol
miv twe events A andg !

yoweiten A ana B o

state
probability o
Rewrite the thaeore

pnhtly eacluree

0

[ Prrn tieer |}




A S B 1 AR T TR g
1 3R AR BT D oRR Raife 1,
0 o =B T

3./ Answer the following questions (any three) :

TR PR T B (R e o) -

i What according to Professor Yule and
Kendall, constitute the characteristics of
an ideal measure of central tendency?

SGI%% Yule % Kendall 3 I S 8N

#RTer MR 3Erz 2
@' efine the mathematical expectation of
a random  variable. Show that

Sx3=15

var(@X)=a® - var(X). —P- 297 3425

5] T e wikiRR ASTeR ke fr |
(‘?‘{‘Gﬁl A, var (aX) - a? - var (X).

(c)/ A bag contains 4 black, 5 red and
6 white balls. Three balls are drawn at a
time. What is the probability of getting
one black, one red and one white ball?
G Gt AT BT 5 e v &I 6 B 491] T
T | CGIAICETA w41 fof-l61 46 uivegeIta S
2 | 9 [OfiB/E <B1 < o, 4bl 3% WIF €01 I
AR igifor

A7/341

5

{ Continucel )

{d)/ The lines of regression of a bivariate
population aze
8X —-i0Y +66=0
40X ~18Y =214

AY

Find the mean values of X and Y.
TETo ol R (34 o -

8X -10Y +66=0

40X -18Y =214
XEF Y R 9% 71 e =

(e)f Calculate miean and median from the
following distribution :

:P; e Wﬁwwmw:ﬁ%ﬁ#w
Fand
A~
l .”. '\ = arks F}»eq!‘ency
,\ N |l 0 :
Cn EEe A
= f_nj ?n it
= on 40-10 4
- = o” {'\
| it 140-20 2
[~
o0 é,'i Z‘; 20-30 18
“ 1N3040 22
X 40-50 21
50-60 19
60-70 10 9
70-80 A : b2
80—‘30 ! ‘J"\\;! b
~1 b t Tieni e)f.w

INTRLE! o -

5




4. Answer the following question s fany thn

a8

0x%3=30
TR TR R AT TomE) T
\{a}ﬂaat do you understand by binomial
istribution? What arc Hs main
atures? For a binomizl distribution,
mean = 7 and variance = 11. Give your 5

comment whether the statement is right
or wrong. . Sy

R I%a m%vﬁﬁaﬁaw?«?ﬁﬁs?v
B R R T = 7 o o = -11. SRehr
TR TR, (ORR WE g o

@ Define partial correlation. @’13; are the

uses and limitations  of partial
corrclat;o?l[ 12 =0-98, r;; =0-94 and
is3 =0-92, find the partial correlation
coefficient between X, and X3, when X,
is heid constant.

AR AoTER R T wsie
I W FEraeEnE [0 /0 55,
ng =0-94 W 50 =092 7, (TR .
F X, q AER Gl f"F” HETEH 3 Rl ey

@l x, i o

#’JA_‘; . { Contuiiied J

SHOT ON POGO F1

{c) /)D-sxxgwsh between

e
A rela\.A

i prean’

i
2

; absolute and
ative measurf“a of dispersion. In what
situation telative measures aic used?
Calculate the value of coefficient of

mean deviation (from median) of the

4+1+5=10

following data :

%W*i‘ﬁ'“*ﬁ_ﬁwﬁ*ﬁﬁ??ﬁ‘-ﬁ@ﬁ@
e | B ARRSS SR T WRW T
T@"_‘%'WW‘M"?WTTWW‘@

- A

s o<1 - ;
1 . . s
Marks  .No. of students
oy gI-GFA T
10-20 5
20-30 6
3040 12 |
20
10
80-90 7
avithmeic mean’,  ‘geometric
: mean', and

aned  havmonis
i

(},{J Dehne

comnpate thet

disadvantages

Propiy IR

it

ke e advantages and
g Hia=10
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A7/341

Where n 1S the numbe
the difference betwe
fanks. What are the limits of p?

Interpret the case when p 4Ssumes the
minimum valje s

T of pairs ang dis

! 6+2+2=19
TTFN A Potggraea R 2132 s p 3
6Zd>
pefma =L
n(n? =1

n =&Ne @%Tﬁ? AHOJPR ‘ij ALY
d = &9 CTN TR W @g e
P 3 ALK 3 5 1% e o oy 34 'e
Y9124 7 g 39
hat do you mean by normal
distribution? Wrijte different properties

and importance of normal distribution,
2454 3= ] ()

P 451 §i¢1 &1 7 WA 3B [
Calizi s < acar farn

{ Continueed )




ar**~2~0 ST e "

as = ¢ ‘1}."'- g =
;“‘i‘”’f‘““"-“: <o .1.—32. "-. _' bs
2 oo

' = f P
- €

,u,CONeMIcs

( %‘—‘t_, £
#) ; T

.--.-_,. - Papef..; S‘

e : : "
= Bduet : *

i Ttme'“ 3 hours : e

- l l_ &
. - ~.'s---'._- -

e f%gﬂnlfes in the margm mdlcate fulI marks
f . for the quesﬁons

& For Arts Streaiil )_:-i‘--

{ Bas:_c Statlstlcs for Economxcs ) 2

: Answer the follomng qucsuons ¢ 1x4=4
=
I / m:unbersl 1 to 11.

L

e

“Find the mcdian of - thc natural

@

\l%-}/ % =40 and 5, =10, find the

fﬁcxcnt of variation. 13

e of discrete random

WW& an exampl

ablc_

»alls. Find  the probability

drawing a wd ball.

({iu)/ﬁr Bag contains 3 white and 4 red )
=R ) N A

( Turn Quer )

-

oy




;cﬂcmng
g -——an?g S

a

- o =
4 .and eﬂéﬂt relauonshxp between the
38 variables.-- ¢ .

2k ﬁﬁoth the .regrcssion coeflicients
’Y / cannot‘.excccd ol T

G s

. .
i “is completely
"/\ o g .mean and the’

, standard dewahon.. = =amh
J.“'V;\::-',:-'- T R =
2. Answer thé foﬁqmng‘@eﬁims 2 2x4;8

SFeni s al® gt s n iodE aFanEef
; @/ fine mathematical expectation ‘of a
/;andom vanabi:: Give one ¢ amme.

b

'-Provc that - the arithmetic mean, of two

| regressxon coefficients is greater than
J\ the corr elation coefficient.

v S Ny
,\%{rOI =!1'42 axid"Q;; -Q ‘=18, find " the /1{

median (& is assumcd that " the
/distribution is symmetrical about
median). @ o

“ibyg==14 andi

calculate T @ 27,

16/216 ( Continued )

-

POCO

SHOT ON POCO F1

AD/Z216

1
R

- /vac the
! &/  coefficient rvli
i ie'-1<r <l

Badd) Stake - thie:
\/diéﬁ'ibmion"'. Mentmn

beiused. T

s

ad-:;‘f..: 30.

situa.l.ibn.‘vir’here;suc ] s’tﬂbutmns c:m

Ef’) ﬂégllain the de(Lrence :
correlation and regress sion analysis.

between

{ Turn ver )




suppose

EE IR 1
ol P(A)=0- 4’ ‘P‘(AUB) 0 7
g 0_10 1090 20_30 040 s "p{,?]-:{;pmd’ (‘A_‘ B] 0 8
= -40_50 50-6‘0' e ¥ ;.._‘..,l.( },é dBaﬂ: 1} ‘H-' A > Feadt
10 : 2) \A'"a‘;d -y -are ind L‘ng’cr;.dent "t
pro:nmate value:"of the : An um contains 6 wl'utc and &red e
; . . Sabacwh 34488 i ba]ls Aseﬂondumcontgg.r:;SBthtc £
the term _‘rcgmsmon aneﬂy i = and 12 ved ba.lis..Onc ba]hsd;awn %
F 5= ; at random and put Lnto the sccond £ %3

(R _..__.r———————-
thc}“ rmcxp!e o lcast squares

; usé'd ﬂ'ﬁ "'The 5 '_s'ﬂ%abd f"“lmcar urn. without not:lcmg its - colour. A
o - : rcgrc;g'io J" ﬁﬁ# 4 At '1." : éi ball is then drawn at rand_om from
% '1'he correlatxon coefﬁczent betwec-] two \ the sccond, urn, What is the .
' ‘vanables XandYisr= o 6. ifo =1-50, i probablhty that it is whlte? . B
= | : :
='2:00,: X = 10»and =20, ﬁnd the e 1+[2+2)+§
: : Sslon Une of ¥ sz Xp b - DH543 y Define §Spearman’s rank , correlation
: o5 - 5 coefficient.  Calculate .. S__pearma.ns
Explmn the distinctive features- of rank corrclation coeﬁ'ic&eﬂt between

advertisement cost and sales from the .

bmormal a_nd normal ¢ dlstnbutmm If the
% :& probabihty of, a, defectwc bolt is O; 2 find

% .» s 2 : '
. IJ__;the ‘mean and (i) the standard {j uertisemcn[ Cost (1000 T) 39 65° 62 9N
!*'\\ dewatlon of defective bolts in a total of {iales (€ in Lakh) 47 s3. S§ &6
900 bolts. vertisement Cost (1000 ? 78 2% W W
‘ 68 60 91 SI.

~ following data :

Mlltes (¥ in Lakh) :
| Comment on the following :
“The coefficient of correlation r=0-8
W 80% of the variation is

C':'| E
2+ 6+2

{ Thynm ('hlﬁr'_] 5

implies thi
c.\;plained.")

Ai6/216

vawa®
SHOT ON POCO F1
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ich of 1}3639 is thp ine of ' “F

% Se r'eg'—'ess_xon of A-f}n_ s s 6
i D1§ﬁn'gu1 S bc*we\,ff - _absolate — 3
R~ hor ot R s I : _

-

: e dispe. 31071 a.nd reiatwe dlspers'on. “. -3

-3 -
% < 5 .
. ,
= = o -
3 > e -
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S—
T

\.Sem—-S} E(‘O 'ﬂw
a: 4

i ;\“‘“ - T u‘h" : '*i: f %
"\:. v ; |‘ s 2 0 1 4. ,l i‘:’;:" LR : : ','
._“ . i " s . "' ;t':“. P
pe : ' ; -:r- .f,.x. e Ao e :
4 3 ' ECON Liad ‘e %&?“'1 TP
T S i OMICS :.
o ; g 4 uf.. -t “‘.
i b X N M 1{ $ ¢ '
‘ 3 A lajor. )
‘.‘" ';i ;%’a\u‘ e ”,
| ‘"u“'\'.’?rf"-' '.~-;“: inoa .
\ g .. \ G5 ’, A6 E 2y,
.
o3 E
= Y
. “’l “ * +
3 P 1( Basm Statxstxcs ]ﬂ- St
% .,fo S A .n‘r
L /1.’_ #a) Choose the cprrect answcr .‘ 1x3=3
Ll x and y are two nandom variables,
{there can be at most e
- {one/ ’{fv}?f/-'thrcc) xcgressxon line(s). ~
- If P(A) = P(B),: then, the § momevcntb
A W X (ll}dCPendem /-
= e dependent ]y eql\y{ I}kSM
ot J‘i‘e,lltid‘iﬁ among‘ dnthmehc
gncan‘,';'-’lﬁ'sw%ﬂclri(' h (;"QZI.I‘_‘-’ and
e A t ": .f i w3 l]clllno C I' “ neal th‘{"ﬂﬁ t”
e (AMAGMAM AM>HM>GM  /
o) AM«HM=GM / 11M>GMZAN)
& Turn: Qver )
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- the ' following?stat . \w/ ot do you understand by ' mean
are True or False : 1 1%4=4 : y ‘deviation? v ‘ ; ‘
/ 5

<5 2
the coefficient of P o "3\"5-

and the value of Lhe R
|~ %7

A\}% The algebraic sum of deviations
taken from any central value is
zylways Zero.

For a distribution,

yariation is 22-5%
' arithmetic mean is 7:5. Find the value of

{fi}/h" .each observation of a set is & » stand
divided by 2, then the mean of the s NG 4
new set will be same as the original 7 - ' |
mean. s
g J
; 'Q (@9 A high degrec of correlation means
that  the cause and ‘
v - - W’Jhat do you mean by ST
two regression lines in case of

Answer the following questions {any three) .
5x3=15

e ; .
relationship exists between the two
correlated variabies. . P
Ml T . ! 4 bivariate series?
ﬂ\ /) In { normal - distribution, mean =

median = mode.
@ A bag contains 3 ¢¢
7 balls. Two balls are drawn at random.

?\?0_1% What is the probability that out of

243=5

d, 6 white and 7 blue

' ' 9 palls, one is red and other is blue? 5
\/2 Answer the following questions it , one 1 e
f the‘m 1%is 5 and the ‘miedian is 6, cxplain  why standard  deviation 1S
AT i ;
regarded supenor to other means of
9

fe'the mode.
ean - Mode == (N c,@;‘,.fv{ﬂ_d[vm)

is given that. P{A)=0-40 and
B \ |
p{ ) =0-35. If - the _ events are (CU Show that Karl Pea;‘son's, coefficient ol

'“dcpeﬂdrnt calcu ‘

‘ i hate S/ &) = P (’Q)Td correlation is independent of the changs
P of origin and scale of the concerined

.

dispersion.

i
i |

. -

1
vanables,

Al5—a0007192 |7 203 -
’ 7\/ /} ( Continued N 4000/ 192 ( Turn Quer )




In_a test series involving India Virat
Kohli and Rohit Sha,rina? made the
following scores : '

. 1ldéntify the better and the more
3 consistent batsman in the series. S5

Ist Test 2nd Test 3rd Test
U ast | 2na | st | 2na | 1t [72na
| 4 Innings | Innings | Innings) Innings | Innings Innings
: NS virer R 317 1L% |6 12
| :& R Seme | 67 | 3s a2 | 30 | 7 | =1
\,@’

ff Answer the following questions (any three) :
10x3=30

(a) t are the requisites for an ‘ideal’
measure of central tendency? Calculate |
the mean and standard deviation of the

following frequency distribution of

marks in a class : 4+6=10
m‘ oyt 0-10 10-20 20—30_ 3040 40—?0 50-60 GO-70
No. of Students -} £ 13 18 30 15 . 12 8
(b ) en are two variables said to be
;i correlated? Distinguisl} between
linear and non-linear corrclations.
A15—4000/192 [ Continued )

II; t_ry1{1g “ito evaluate the
‘Cliecuveness in its advertisement
expenditure, a firm Compiled ti,e
following information -

.\\Oqi K sajgs on advérﬁsing'expénd_iture
A:IS? e-st.lmate' the_likely‘sales Wh'e'n
advertising expenditure is & 60,000. ')(1{2@'0
b = o o G 4‘:‘6‘110
C l. - - l-l
o /istinguish between absolute and

relative measures of dispersion. In

what situation relative measures
are used?

\-{u/)/( survey of domestic consumption
g !

il' c‘lectricity gave the following
distribution of units consumed

No. of Units
Soder - Wiy Below 100 100-200 200300  300-400 4 6C
' 2 " 27 32 Ve ~
No. of Units 400-. >
. qssoa 50?:00 600-700 700 and ebouve I\I'JL;?‘&&
20 11 b
R !
A Compute the quartile deviation and
K its coeffici
Q\ wcient, PP

i
A 1540007192

f’[‘-’”}l fhier / ol




e [§ State and prove the multiplicative

;.3’50 fijl For s ‘A and B, if'P{A)=21f_;

1; ; "/‘Mmt, do you ande stand by b 'nomxal

distribution? What are its main featur es?

- For a Dh;O"’h&l distribution, mean =7

W and variance = 11 Give your commeiit
‘-Vo

whether the statement is right or wrong.
B 3+4+3=10.

-law of probabiﬁ‘cy.

11

ﬁiﬁ" )= = PAU B;:%, then Find

P{A -BJ and P(B/A) 4+6=10F

<

ﬂ What do you mean by normal distribu-

tion? Write ~different properties and
importance of ﬁér’mal distribution.
i - ' 2+5+3=

: | g(ﬂ-{'n) j  '
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3 ; Paper : 5.2 -
*{?- ! i t = = 40 ’ 5
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) - ‘ Fll I o ¢ _— = ' -
i Z.Marks 60 T e S
} - . Time : 3 hours
g Tht,: ﬁQures_ in t'h;e_ m@z’z’n tndtca.te Sull marks p
' SJor th.e questms ‘
| S -
- o3 7 | For ArtS St
( Basic Statistics )
= ja}: Chor . the correct answer from cach o1
i Ufe (Hlowing : 1x3=3
: ﬂ 5+ GM of two numbers 8 and 18
' <1iadl be 'a; .
| \/ﬂf{ A ‘
. , 7 -/ - {; 1l at )
= i :
- (713 v ,‘(&,‘3. AR =
- - 1
WRL . (| 1ple )’. 4
2 Y . il Rl 3’
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. fpirh g
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i z’qufﬁci:nt of _determination is
deﬁr_;ed as
1) r
(2 1+,

£ ’ {4) None of the above

. W . coefficient - of vai_'ie:tion Er
distribution is. 50, standard
deviation =20, the val X i
. S € a0 0, the value of X is
% i \
,cp. 2000  {@rdo TR
X {7 40 :
= vep i BT -
o ?(’7 F oo s :
2 -
1x2=2

Wswer the following questions :

What are quartiles? C-:P"?

= =] :
Wﬂﬂc partial COI’iclanon.Ci'[‘-l
- F-—lg.| -{t"d.'u) P
Wtatc whether the {o{knving staten cots
' aic True or False : 1%22=32

- e The regression lines cut each ather
'A _at the point of averape of ¥ and V.
x . caas

Dependent events are i in
which the outcome of one dor ; not
affect and is not affected 1o (he
other. |

{0 oiinued )

. Sk et

Py B2 adiD, oo
ATy o oxa=8

= stions - - . s

Ly Answer the followjng Ques | ;
a State the relationshipP bctween b :

the | linear P

Fore L And

st the,
W %P
o A

oms (any three) :
fon, athln-  SNSEEG

/ Assume that in a part‘fx_g_:.'ul_a'r _casc,_thc
sample mean is 27-5: .Whnt onnd be
the sample mean if the frequencics are
doubled?

relationship. between. mean,

me What hapoens to thie

o I
of a symmeuci
LAl

tate the iC

median and mode.
relationship in case
distribution?

{ Lvarn ""-\ /

{ap 12004193




Bt
<
N
QS\M
-1 &
‘% Y
4
!
37
'?-,\ ¢

14/

_____.,__.,';,1,4/1*— 400 f 19

e T T

80 are the Cvents E‘and p.

the methog of least

? /{/sép"*es used in curve ﬁttmg '
(-5»,- : ) € mean deviation about mean is gwen
L
{

by D.--—-Ef Ix— )_l, the symbo]s bemg

w1th the1r usual rneamngs

If -you use (x= %) mstead of [x-XJ'in the
abovercxpressmn What ;wovld “be the
nuncncal vaiuc of :thc pwfex‘preSSlon?

in two‘{actones A and é- ehgagcd in the
same -mdusu'y in ‘the: ‘area) the average
weekly : wages and . He . standard
dewanons a:re as IOHOWS | :

Y\ Factory Aueragc F’} SD I\o_ -of employées

Ao RS g

B T oss AE - g

{i) “Which; factory, A or B pays out'a
largcr amount on wcekly wages’P

(i) Whlch factory, A or B ha° greater

vanablhty in mdmdual wages? 2+3

A normal curve has X = =20 and o = IO
Find the area between X; =15 and
X, =40. Given PO <Z £0:-5)=01915
and PODsZ<2)=0.4772,

Sate the conditions required (o apply

binomial distribution. St Lk 3+

nd £ afe mdepend#nt

; ' [ {ontinued )

S/




e oy Bl =
equation of X on ¥V apd cornpu t
ﬂxpﬂmed value of X owen-rthat“"Y =14,

,7]/’ Given that the regrﬂs.non cquatzons of Y
,3&?’ o on X and of X, on'yY are, rcspc"uvciy
Y=X ‘and 4X- Y =3 Fmd, the

corx datxon coed’icxmt bﬂtwc en }" and #

e ‘;\\

{§,¢/ State the addition and muiupu..auon
(L{ A [heorems of 'n?thpmauca. expectat:oq

s
| A random varable assumes ﬂac value 1
; W'lt'h prQbabmty p a_n,d O W‘it h
~ probability . g=1- P - Prove’ . that
‘“ ‘;éﬂii&biés Prov«: Lhat var{c) O
¢ whcre c is: i.‘,ons"'m* ] fb‘%"\(_,—_:j-e-a:-}:- :
B Ay
: -C(fflssdcr ﬁic‘{abiugm,n beiow
‘ ﬁlo of‘Aécuieu-tts ..[ tr 'LFr’c-quency !
i et S e ’Number of Daysl
o 75 46
1 ?
é@s i3 7
..}\‘ . 25
¥ “ ‘10
Y 5
Yy s
Total = 200
I the mean is found tw be 140,

. calculate the missing {requencies.

e O Meaion the merits and demecits of
s f sean, median and mode as mr:usl'frt'h ol
wizal iendency, 9t
R : : { Contneea
i 5 > ™
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